L’ Arrondissement (E)

1957

3518

6 365

38719

90774

152 004

143 841

993 322

5278

9472

9449

60 398

17497

822 842

691 005

722352

4067

7154

82969

91741

46 819

908 630

814 964

6743 536

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

1513

1120

52975

28212

96 285

917044

879116

1354579
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L’ Arrondissement (E) Solutions

1957
2000

3518
4 000

6 365
6 000

38719
39000

90774
91000

152 004
152 000

143 841
144 000

993 322
993 000

Arrondissez chaque nombre ci-dessous a 1’unité de mille pres.

5278 4067 1513
5000 4 000 2000
9472 7154 1120
9000 7000 1 000
9449 82969 52975
9000 83 000 53 000
60 398 91741 28212
60 000 92 000 28 000
17497 46 819 96 285
17000 47000 96 000
822 842 908 630 917044
823000 909 000 917000
691 005 814 964 879116
691 000 815000 879000
722 352 6743 536 1354579
722 000 6 744 000 1 355000

MathsLibres.com




